Trace plot, j=1, k=7, t data, simulation run 1

0 500 1000 1500 2000 0 500 1000 1500 2000

Ubjk’ b=13

0 500 1000 1500 2000 0 500 100 1500 2000
cpbjk, b=13 anjk, a=3
500 2000 T
‘ ’ 1000 -
...J.l..u.l..nl |||.L.L|I.| o l il Lol .

0 500 1000 1500 2000 0 500 1000 1500 2000

A2 02

(ij) (ij)

2 " 0.2

0 : : : 0 - : —— — '

0 500 1000 1500 2000 0 500 1000 1500 2000

LlJ 2 _ . _ .
(vaj) ,a=3, =1 naj, a=3, j=1
4 1
L 1 0.5

O . Aa - r— A 1\ 1 et - 0 1 1 1

0 500 1000 1500 2000 0 500 1000 1500 2000

Postereior mean Credible interval — True value



